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1-Our discussion is largely concerned with the economic crisis in the U.S.
1. )‘W 2. ‘5)}'3 3. LM 4. 08 1 f)j-l@.

2-This book has a detailed table of contents.

1 b e 2 s g0 3 ealie Jou A e s

3-In "Robbert always case a place ahead of time", case is a(n)

1. houn 2. adjective 3. verb 4. adverb

4-1 confided a friend of me the subject of my thesis.
1. p8,S olazel wgs 4y 2. mle ielas | piwgs

B (38 o o wiligs 3 Se b bops S o 1) ibiogs 31 (S0 slazs]

5-1 will arrive there in ten minutes flat.

1. 4.5.:_§.>co)oafa)5.|43 2. &zoa.ﬁ.?.b)a

3.

aa,ds oo wl, aids os ,o Lu,ds

6-By timing the interval between a sound and its reflection, you can estimate the distance to an
obstruction.

QRO 2 ey pelass L 8- by csis 4 Gae

7-The word megameter which is derived from a Greek word that means simply large refers to

1. ten hundred meters 2. one thousand meters

3. one million meters 4. ten thousand meters

8-You should be able to sort out fact from fiction.

s s G GPRCIPENR 8 s el b0 e

9-With so much wavering behaviour, the stars might be expected to be in frequent collision.
T g e conbio lugs s Uil U gilae 15 b 2 sal pslad 58 e ol ko)l Jlos

3 )l Slog o8 > S 4 5 b Ylas A il pola o alKalE 5 iy af 5, e W]

10-In "An even thinner layer of sediment exists than that which oceanographers had previously
considered too small.", that refers to

1. even 2. layer of sediment

3. sediment 4. oceanographers

PFAF—AF Sl Jluos
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11-Can sonic booms be eliminated? The answer is categorical negative.

2.

1 05 on s il it &9 iy Sl pia o ey

3. 4.

W I SO ONE SN O S Gl giio lalad ey

12-More than three centuries previously, Roger Bacon had explained how a telescope could be
constructed.

1. next 2. ago 3. |astly 4. subsequent
13-She had been pretty and now, a middle-aged woman, was still comely.
1 ol e 2 ebgss e s

14-She is eaten up with snobbishness.

T cions o SLLS 2. ) e By azeb

SOROW ST b 555 oo 16 Wl oo 45 Ll U
15-The poet doesn't mean what he says.

o Bam sz ol 5l el B i o 535 o 2l sl

3. 4.

255 (0 47 S e L0 62 Cs 5 (g0 45 4zl el jolase

16-The imagery and diction of poetry should be carried out into other modes of English.

T 555 ool il 2 55 plol il 8 sgn Qs b 4558 Jom il

17-There is not an atom of evidence that anybody else wrote Shakespear's plays.
Tosals oS slaws AR S SIE SRVARIICT UK s 4 oS sals

18-All he had to put into his ledger were things_against and in favour of his situation.
a5 5 alline 2 Gybars bl s 8 iksu A silse 5 s

19-If it weren't for wedding bells or funeral bells a novelist would hardly know where to stop.

Tl s wils o 20 08 plas | lils IS cails e

3. Gl ool xS Candls o itew 4 4. Sgs B gio xS Wild o (St

20-This experience is uncritical, or rather pre-critical, so it's not infallible.
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21-The biggest problem for me is learning to with others.

1. find out 2. make up 3. get along 4. take over

-YYCan you create one word out of the letters in 'new word'? The answer is 'one word'.
oS 5l aals S 'new word' Gy 5l 2, wles e U
TS0 e 4alS Sy o 1, 'new word' gl asl aly e

T gyl 408 K wiien 'new word' s a5 sy > 5l ool b ol e L

"ok aals 5 'new word' e als JLss 4 alsi e U

23-These people should condescend to be pleased with what is pleasing, without fretting themselves
and others.
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